1% IERRSR
e pd (1.3) : G £ 1/Z2 = (iF) 1/22

p.25 (231) R AU 2H : B —2° = (F) — &2

p.33 (2.53) X & GR) Mm = (IE) M,

p.40 (3.21) X : I D=DX% b

p.40 (3.21) 3\ : AL DIHIZ 1/2 20T %

p.41 (3.22) X : A2 1/2 01T %

p.41 (3.23) AR : GR) D?*I/Dt* =0 = (IE) d*I/dt* =0

p.64 (4.51) XF : (%) (3.53) = (IE) (3.40)

p.75 (4.111) X4 : GR) —16/3 = (IE) —16

p.83, 317H : (B%) #£52 (2R—Y) = (IF) £5.1 (82—Y)

p.84 10 ORD ) WM 21 : ) In Ly = (F) In 21

p.1125.4.6 fid 347H : (B4 ¢, = (IF) 2

p.134 25 317H : (BR) (6.6) = (IE) (6.5)

p.149 (6.86) & : GR) T = 557" = 52T — (IB) Ty = 25T = 27

p.203 117H : (%) 5% T = (IF) 7THET

p.207 BIER1 DR : GR) % = (IF) h

p.208 HB2E& 117H : GR) dw = (IE) dw (wldE~7 b))

p.209 (8.16) X347 F : (GR) v+¢e = (IE) u+c

p.209 (8.16) X4fTF : (R) v & 1 = (IF) EE u & ¢ &

p.211 JHIVE*S : (BR) FEfk — (i) SHE#R
p.254 T2 5 447H : GR) Wi 6 & = (IF) o &

p.278 (10.67) X : (&) V= (E) 9/or

p.290 117H : G&) R = (iE) |k|/kr

p303 XA2:(GR) t+dt = (IF) t+ At
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p.320 517H : (%) 0.6015 7 ERE = (IE) 0.6015 TH 5. o EEf



